Fof 7]opRsea uh2 ] Lt

28 As

ot

~7x4

9 .
9

29 11 2
122 6— 10—
S 63 ® 56 @ 9

23
28

@

23
63

@




O Aee AT 297 O E A2 o= AR Az e,

3 1
1 =11 +11+1 — X —
@10x3 1 @33 0 ® oxo
=1 — — <11
@ 3 0><11 ® 0

~&B

Ubo} Gl A AR FAAOR why Hms) Bk

1 10x3
10x3=11=1 1 _
@ 10x3 O><3><11 T
11 3
11 +10 = — X — =
@ 0=3X17>10~ Ix10
3 1 3
® 6% = Tox 11

1 11 3
@3?10X—:3XEXﬁ: 10x11
13
11 T 1ox11
2L OHAYr.

LN

3 .
® 0 11 = )
uteta] 2kt o2




3. WxAd 53 A7 HE Ae BF AEAL,

45+ 7
1 7 45
45+— — —
©53 7 ®45 ® 7
@6? ©7+45




4.

e LAl ) Bo)

qE 2% BF 2242
49 - 3
49 1
49 % = ® N
ol . ®) 5
@165 ®)3+49




:

<t
™| X
I~

IS s TN
X X x X X
NI~ i~ PN i~
Il I} 1l 1l I}
< <t < < <
._. ._. ._. ._. ._.
M= b~ b~ M|~ M|~

@ 8 ©® © ©







cm
/I
/ -~
~~4m-
Ao =8 - 20 em
Bl Hol 115 cm?
3 3 1
@1 @2 03 @32 @ 65=
4 12
1 61 1 61 1
20—74—§XZ 1—2 51—2CH1)
1 15 3
15-4=1 =" =3=
5 5><4 1 34m
- _ 1 3 1 9
A= —‘Eﬂ; . 2_ —_—KR__ _2___
= 512 34 B 312




A=

8. SZm 94 7]‘3][-13,—% 6 7H§ P—_'=‘-7E1_'O] ﬁgo-‘l 1/].1'—_01 _%7]; Mo U’H,

21 11 923
@ 15 m ® 1=-m

&






1 5
1- k 2=k
@61g @Gg
14— k
® G k8




11, o® 585 2 Yooy o o] Sk o] 83 02 g

ohl At Bn] FokAl L.

4 4 4
(Dl5 @2§ @35 (@) = ® 5=

2
(185 = 23
2
(OWJT):2§><5
8 1 40 4
92 x523=2 x5x == — =4=
% 3°%37 9 =%




747

o)
| b~

iy
<

Bl




e
.

o] 37AYY}
ﬂzﬂﬁqq.

Bl
BH

©

ol
i

1

@

oy
,_|4no
@)
Ty
o

B
e

i




il

ay

.
Z‘“ 6§O] 71—3
T 71 “o] o]—

O
= U

14. o

<
%

o
i




St WHo] £¢71 48 cm o™, 141{]3*1?47} 152 cm Q1 =Z}H7]
AHYLE o] YAEY L] Eol= 2 em JU7F?

® 5cm @ 6cm @7(:111 @ 8cm ® 9cm

~&B

TZ7) 5L WO mofo] BZAFo| R oF W BAZE
gt

wabd g B E 8 Yt

g nAg 2] |t s,

(48 x2) + (8 x[_]) = 152(cm)

(152 — 96) + 8 = 7( cm)




o

LH

IS

iy

I

<[z

%

F

iny

n

o]

,_.__.o_.o

LH

=

on .

o A

b -

oju of

o 7on

N ar

R

Ny

o
mg

16. ot

@ 1871 @217]1 @ 157 ® 257

@ 1971

3x3=9

2%
12+ 9 =217}

N




